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35) Number of units to produce maximum revenue is 83,333 units. 

 Maximum revenue is approximately $1,716,770.73. 

 

36) concave upward:  (−∞,−4)     concave downward:  (−4,∞) 

 

37) (a) relative minimum at point 
1(1, 4)P       (b) relative maximum at point 

2 (3,0)P  

 (c) point of inflection at point 3(2, 2)P   

 

38) At hour 4, the number of bacteria is at a maximum.  

  That maximum value is 1160 million. 

 

39) The concentration is at a maximum in about 3.5 hours.   

 That concentration is about 0.22%. 

 

40) (a) 𝑣(𝑡) = 256 − 32𝑡, 𝑣(2) = 192 feet per second 

 (b) 𝑎(𝑡) = −32 feet per second
2
  

 (c) maximum height is 1024 feet.  (d) 16 seconds 

 

41) (a) $13,847.84  (b) $13,909.68 

 (c) interest when compounded quarterly is about $3878.45. 

 

42) The prediction from the model (function A) fell about 93 million short of the actual world 

 population in the year 2000. 

 


